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“Every system
in stable chemical equilibrium submitted to the influ—
ence of an exterior force which tends to cause varia—
tion either in its temperature or condensation (pres—
sure concentration number of molecules in the unit
of volume) in its totality or only in some ofitsparts
can undergo only those interior modifications change
of temperature or of condensation of a sign contray

to that resulting from the exterior force” .

“«

256600

“« »

“ ”» 13

“ » o« ”»

dInK/dT = AH® /(RT*)

aA(g) +bB(g)==cC(g) +dD(g)
c(A) c(B)
c(D)
c(B) c(C)~c(D)

(0) * (D) 0
c(A)"c(B)’ ‘

; 0.<K o
€))

_ () ¢«(D)
c(A)* ¢«(B)’

~c(C) -
c(A).

~

Q=



.10 -
o A
(O - (D)
NN G
A ; A
_© -
ORI
A o C
D Cc
D ; ¢ D
¢ D
@
Il

nr . nd

ROROWN
T e(A)e(B)’

=K n (c+d) -(a+h

na . nl;

(c+d) -(a+b) <0 (a+b)>(c+

d) Q <K
pV =nRT
(c+d) -(a+b) >0 (a+b) <(c+

d) Q.>K
(c+d)-(a+b) =0 (a+b)=(c+

d) Q.=K

(a+b) #(c+d)

3

2018 12

2NO,(g)==N,0,(g) AH <0
K (298K) =6.80 K(333K) =
0.601,

Fe(s) +CO,(g)—==FeO(s) +CO(g) AH>0
K(973K) = 1.47 K(1173K) =

2.15.
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